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1 Quantity of money

A bag contains many US nickel coins. To determine the total value and to avoid counting
them, you weigh the bag and find that is has mass 1.645kg. You know that the mass of one
nickel is 5.0 g.

a) Determine the number coins in the bag.

b} Determine the value of the money in the bag.
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2 Balls on slopes
Two balls roll down ramps inclined at different angles. Their

speeds at moments 3s apart are illustrated. Which ball has
the larger acceleration? Explain your answer. 2m/s
Answe acel = cnange in sPeu) ] & how 8m/s
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3 Accelerating cheetah
At one moment a cheetah is at rest. After that it has a constant acceleration of 3.0m/s?,

Determine its speed 5s after it starts to move.
Speed laker = SP@A eorier + occlvahon x hve

= omls % 2, 0mIs? xSs
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4 Trains
Two locomotives are connected to train cars as illus-
trated. The mass of the train is 200, 000 kg. Locomo- [toct I Train cacs [recz]
tive 1 pushes right with force 6000 N. Locomotive 2
pulls right with force 10000 N. Air resistance pushes
left with force 4000 N on the locomotive in the front.

a) Determine the acceleration of the train.

b) Suppose that the train was initially at rest. Determine the speed of the train one minute
after the locomotives start to push/pull.

¢) Determine the speed of the train another two minutes later.
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2) Accoloahan = net force Aass .

net Ferce = OCOON+6COON - qooey = leooo N
Acceloahon = 1263,0@'\-’/20@.&/@6% = 0.06mls?
b) sped lher = spudealier + accel x hme
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Robmls+ 0.06m/st w126y = 10, §mls

I

S S,

koow Newton's  Law of Gz h o

Owiz 4

Ch 5.1 =252
T




